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A & 0l & AF 2 E A A
20219 &= = 0llah LBl & XA
AN 23 AR D
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©el: oMES N CERED
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SN FHE - EA(SA) - MEAY - BES 0l &t o il Bl DE2
O| 3| At It 859,614 903,116 A 43,502
SR o3 A FE 847,246 885,036 A37,790
oF¥Es N 723,523 714,076 9,447
oz as JIEXNA 500,307 498,400 1,907
201 L2l 37,030 39,810 n2,780
01 At 22l 22,530 20,310 2,220
O2& A&Zds AAE 3,000,000& »23l 6,000
OSf& AR4A &3 FH| 200,000& »7H 23] 2,800
oue RE2 4,860
- =2 15,0003 115 +12& 1,980
— XX 15,000& 165128 2,880
OLN2HS AN dgd=H 200,000& x 18 128 2,400
OAFNZAZE &4 ¢ 3,600
—JENERIEE A =
70,000 x9H »43] 2,520
—SFN=ALS HA (A2 ZDF)
30,0003 x9F *43] 1,080
Oolfl ZRIANY MMV EHasrg
70,000 79X »33] 1,470
ORF2s HESAYSYNSIANE HFa4g
70,000 +7H »23] 980
ORFPos ¥ ¥UHTHES HoI9IAS &
Mg 70,0003 x3Y %23 420
03 &AL Z I 14,500 19,500 A5,000
Ostots 2J1=# 2,500,000& x13] 2,500
O3% 23 g=sd=+ 5,000,000& x13] 5,000
O&= Alz22s & o Edal
2,000,000& 13 2,000
OM1al =223, 2R F=sH+ MHA
5,000,000& 13 5,000
205 23l 462,027 457,340 4,687
01 ¥ & sl 92,400 92,400 0
OXgod o3& sl 1,100,000 x7H x12& 92,400
02 28+¢ 151,410 147,286 4,124
OXgeod 28+¢ 1,802,490 «7H «12& 151,410
03 A= LHAHHI 35,000 35,000 0
OsHH 35,000,000& 35,000
05 B2E =& 49,782 49,782 0
OAFE=2g =553l 6,000,000 »7H 42,000
OB AUEE R3S 283
1,297,000& 6 7,782
06 23l 2L =T 73,984 73,984 0
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O| 3 ALR It
S& o3y HE

gd3gs N

SN EB -G (3H) - NBAY - BES ofl &t o SSa HDE2
O & 2,687,000 x12& 32,244
OR & 1,335,000& x12& 16,020
OadRARg A& 952,000 »2H x12& 22,848
OWAMBAMEEAAS AT 957,300& x3& 2,872
07 S LH (2B, MM LE) 2,800 2,800 0
O3 £ MHAHNs 2,800
- S39E 150,000& *7H *23| 2,100
S M= 700,000& x1H 13| 700
08 S| & A2k ery| (212t EH) 2,044 2,044 0]
OoI2tAE = 146,000& *7H *23| 2,044
09 o & & Iy & H| 35,000 35,000 0
O3 ™= 5,000,000 7 35,000
10 &EEAMEE 2 7,000 7,000 0
ON=ANZAXR2AZAEHAZIRE 2
7,000,000& x13] 7,000
119 2oAZ223 6,814 6,628 186
O=0dHZEE = 12,617 ,430& x4 5% 12& 6,814
12203200 AH22E 2 5,793 5,416 377
O=0HUEES 12,617 ,430% *3.43%* 12& 5,194
OIABE = 5,194,000& *x11.52% 599
305 HHA =SS 1,250 1,250 0
O1Hiad=2S 1,250 1,250 0
Ozl & =0l AHIEA 50,000& x5 *53] 1,250
odEgs 8 191,366 183,826 7,540
201 Bt 191,366 183,826 7,540
01 AR 22| 152,917 145,617 7.300
023 3oz &2t 18,500
—8d 3 90,000& *60F 13| 5,400
— 2 Al 3] 90,000& *605 *13] 5,400
— SHAE A2 2ZAL 86,660& *60F *13| 5,200
— oA 2,500,000& x13] 2,500
oldEs Y4 1,100,000& *x1002] 110,000
OcdXtg =8 L 228 TAZPY
15,000& x105*103] 1,500
O3 225 N 35,0002 x 1504 5,250
O&tH M= 100, 000& ~40H4 4,000
OH&HE AHOA HMZ 5,000& *300H4 1,500
OJIEE=2 AINoIGH 1,000& *1,0000H 1,000
OJNs8EEg ¢Y N 20,000& = 1004 2,000
ORFZ22 35 OtLHEH X MI& 8,333 x5002 4,167
ORFZ23 AANX &2t 10, 000& *500F 5,000
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o M7 olEa B
oo ANES X8 (et
SH-HH . B(SH) - HBAMY - BES o & o SSa HRZ2
02 35244l 38,449 38,209 240
093 ZSEBAAH SXE$ 7,689
—olEAN 23,850, 000& *8% 1,908
—AZTEAN 48,170,000 *12% 5,781
O3 HREZH AMAE KRB 19,824
— o= 101,017,900& *8% 8,082
—ATE9N 106,745,000 *11% 11,742
O&XE 2 ANIAE SN2 9,436
—otEA N 47,000,000 *8% 3,760
—ATEN 47,300,000& *12% 5,676
O0332= % HA 1,500
—HOISTV AIS & 55,000& x12& 660
—4& ol AlEE 70,000& = 12& 840
o ZM(nNR) &= 31,850 31,850 0
205 2| 3| Hl 31,850 31,850 0
04 2| & =2/ 04H| 31,850 31,850 0
O%d 2H(NE) oHAHA% 3,500,000& x7H 24,500
OXOMZEA nNIBHAI S A 24,500,000 *30% 7,350
SN2 E XA 123,723 170,960 N4T,237
OIA2Y JI2X& 123,723 170,960 N4T,237
201 Bt A | 74,523 91,960 N1T7,437
01 AP 22l Yl 34,620 42,078 AT ,458
O3 d2A3 FAS 550,000& *4H 23| 4,400
OSAI 228 2 298,000& *103] 2,980
oz oA &8 200,000& *3CH x4 3] 2,400
OREFSsE 3,060
— =2 15,0003 x7E+12& 1,260
— X &X 10,0003 155+ 12& 1,800
OANRES 2l 100,000& *123] 1,200
023 HAF W &#3EYI 1,000,000& *33/ 3,000
O&8=J gtz 80,000& x4CHx12& 3,840
O&=J 3J&8&HY| 20,000& x50 x12& 1,200
odldl 3218 2&4| 15,0002 *11CH*12& 1,980
O2J1&83J| E&H| 15,000& x10CH x12& 1,800
QOollater 2 Ot AH AEED S HH (N2AHA)
8,000& x4H x40 1,280
OXdla ¥ dAls 29 S|
8,000& »9H x40 2,880
OHMZ23l 3= 23 M=tz =t
4,600,000& *13] 4,600
02 3329l 39,903 49,882 N9,979
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O332=2 % HA 4,980
- &2 150,000& = 12& 1,800
—ELS 2,600& *3003] 780
— XS XA 300,000& *x3CH *13] 900
—AsxiEg = 500,000& *3CH *13] 1,500
OAIR &l HetAH 2 | 966.93& x7004 677
O&&I 7AE=Hl 300,000& x12& 3,600
OCCTV X2 4=H| 83,300& x12& 1,000
OPNE=i] 29,646
— S 21,246
PN 1,496.68& x7,5004 *1CH 11,226
SE Xt 1,354.05& x3,7004 *2CH 10,020
—A2E e 2 %2 8,400
RPN 400,000& *63] = 1CH 2,400
SRt 500, 0003 63| *2CH 6,000
202 O B 36,000 46,500 A 10,500
01 2L Y| 10,500 21,000 A 10,500
OQotaE X8 £E(H2HAA)
2,625,000& 2,625
Ooieg Na s 7,875,000& 7,875
04 = X3 bl 22,000 22,000 0
OdllAAIZ 23 ¢4 3,500,000& x44H 14,000
OdZZME HXoHY 4,000,000& x2H 8,000
05 3%& WEOHYI 3,500 3,500 0
Oodz2d st F8uWsE 350,000 x5 x23] 3,500
405 XtabF S| 13,200 32,500 A 19,300
01 AL 2B FHSHI 13,200 32,500 A 19,300
Ol tE= 7Y 1,400,000& x4 CH 5,600
O22RE |PTV AllggtA 2l
1,250,000& *2CH 2,500
O23 o & "X 2te0] &
155,000& *20CH 3,100
OdR7 BEH 7 1,200,000 = 1CH 1,200
o7 2UH ¢ 400, 0003 =204 800
HHSAHU (S AFR D) 12,368 18,080 N5, 712
PIEET 12,368 18,080 A5,712
2 Jl2& | 12,368 18,080 N5, 712
201 LEr2 Y| 3,508 5,880 ~2,352
01 AFR2t2l bl 3,528 5,880 N2,352
OoJlsgexa 21,0003 *14H x12& 3,528
202 (4] 3,360 6,720 A 3,360
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& D123l (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa Hl B E2
01 = LH 4 bl 3,360 6,720 A 3,360
OJlege=a 3,360,000& 3,360
203 R =&Yl 5,480 5,480 0
02 et =& 1,280 1,280 0
O&& 100Z NtXl 80,000& x16H 1,280
04 EAN2IHR2F=EHI 4,200 4,200 0
O%3IAF2 (B A 1521 0lat) 250,000 x12& 3,000
OFIAAAL (A 52 0lot)  100,000& x12& 1,200
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